
SECTION II TM 55-2210-224-24P

Figure 65. Battery Charging Alternator.



SECTION II TM 55-2210-224-24P

GROUP 11 BATTERY CHARGING ALTERNATOR
AND BELTS

FIG.. 65 BRUSHES, CARBON AND HOLDERS

1 96906 MS90725-60 SCREW, CAP, HEX 3
2 96906 MS27183-14 WASHER, FLAT 5
3 51225 57-0264 GUARD, COVER, ALTERNATOR AND BELTS 1
4 15437 S-116-C SCREW, CAP, HEX, 7/16-20 X 3 1/2 1
5 96906 MS27183-15 WASHER, FLAT, 7/16 1
6 96906 MS39257-3C112 BELT, FAN 2
7 96906 NUT, HEX (NSN 5310-00-997-1888) 2
8 96906 MS35338-44 WASHER, LOCK 2
9 96906 MS27183-10 WASHER, FLAT 4

10 LEAD, ELECTRICAL, MAKE FROM, WIRE, 6 AWG 2
P/N 932091 (72915), TERMINAL, 6 AWG
516 STUD (NSN 5940-00-115-4991) (96906)

11 LEAD, ELECTRICAL, MAKE FROM, WIRE, 14 AWG   2
P/N 31906 (89910), TERMINAL 16-14 AWG
1/4 IN STUD, P/N 8491796 (72195) REF DES,

12 24446 70897 NUT, LOCK, 1/2-20 1
13 96906 MS27183-18 WASHER, FLAT, 1/2 2
14 24446 158829 SCREW, CAP, HEX, 1/2-20 X 6 1/2 1
15 24446 41B564010G1 ALTERNATOR MODULE 1
16 96906 MS90725-115 SCREW, HEX-HEAD, 1/2-13 X2 1
17 24446 66945 SPACER 1
18 24446 219160 LINK, ADJUSTING 1
19 96906 MS90725-64 SCREW, HEX-HEAD, 3/8-16 X 1 1/2 1
20 96906 MS90725-61 SCREW, HEX-HEAD, 3/8-16 X 1/4 1
21 24446 219159 BRACKET, LOWER 1

END OF FIG.URE

(5)

QTY

(4)

DESCRIPTION AND USABLE ON CODE

(2)

FSCM

(3)
PART

NUMBER

(1)
ITEM
NO.

65-1


